Multiplication d’'un Monome par Deux Binomes (G)

Simplifiez chaque expression.

1 =2¢%(7q" — 4¢°)(—2¢° — 4q)

2. —9w?* (8wt + Tw?) (—w* — 9w

o

3. 2r3(Tr + 3)(2r® — 3r?)

L 7% (5e — 9)(—8c¢* — 4c)

6n°(—4n* — Tn’)(8n — 8)

Ot

6. 7a’(2a + 9)(—6a* + 5a°)

7. 9¢%(c + 8)(3c — 3)

8. —b°(6b° + 2b*)(b + 6)

0. —d’(—6d” + 3d*)(—4d® + 2d°)

10. Ty*(6y + 4)(y" + Ty°)
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Multiplication d’'un Monome par Deux Binomes (G)
Réponses

(@2}

6.

9.

10

Simplifiez chaque expression.

C=2¢°(7¢" — 4¢°)(—2¢° — 4q)

= 28¢° 4+ 404" — 324°

—9w?(S8w?* + Tw®)(—w* — 9u?)
= 720" + 711w + 567w’

2r°(Tr + 3)(2r® — 3r?)
= 28r" — 30r° — 18¢°

73 (5¢ — 9)(—8c% — 4c)

— —9280c5 4 364c° + 252¢*

6n3(—4n* — ) (8n — 8)

— —192n% — 144n7 + 336n°

7a°(2a + 9)(—6a* + 5a°)
— —84a" — 3084 + 3154°

- 9¢%(c+ 8)(3c — 3)

= 27 4+ 189¢% — 21667

—b°(6b° + 2b*) (b + 6)
— —6b” — 38b% — 1207

—d°(—6d* + 3d*)(—4d® + 2d?)
= —24d" + 244" — 6d°

STyt 6y +4) (vt + Ty

= 429° + 3224 + 196"
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